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Choose the correct answer from a, b, cor d:

@ We need to buy some more water. This bottle is .......ccccce... :

a) empty b) crowded
c) full d) old
@ When did Omar’s family ......cccceeee..... the museum?
a) visiting b) visits
c) visited d) visit
© Let’s go on the big wheel at the.................... this weekend!
a) alley b) stadium
c) funfair d) aquarium
@ Which is e, , Aswan or Alexandria?
a) hot b) hottest
c) hotter d) hotter than
© The Tahya Masr .................. goes over the Nile in Cairo.
a) Pyramid b) Tunnel
c) Tower d) Bridge
O February is ......covveeve. month of the year.
a) shortest b) short
c) most short d) the shortest
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@ Mathematics

Choose the correct answer:

0|f3a :\/Zb,then%: ...................

a)2:3 b)3:2
c3:4 d)4:3
5o
a)-3 b) 2
c) -2 d) -1
e (?)‘3 equals -
a) _8ﬂ b) %
SR d)2’
O /(B)7+(6) =
a)|-10]| b) £10
)14 d)-14
e The number of the diagonals of a pentagon is -
a)3 b) 5
Q)7 d)9
6 The measure of each angle of a regular hexagon equals -
a) 60° b) 108°
c) 120° d) 135°
0 The standard form of the number 0.7 X 0.005 = -
a)35x 103 b)35x 10
c)3.5x1073 d).035x 1073
0 The sum of measures of the exterior angles of a convex polygon of “n” sides = -
a) 180° b) 360°
) 90° d) 120°
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Choose the correct answer:

o ................................ is a bond resulting from the electronic attraction between a positive ion

and a negative ion.

a) lonic bond b) Covalent bond
¢) Hydrogen bond d) No correct answer

9 The chemical formula of Caustic SOda iS ...cceeeveveeeeveremeerenne .

a) NaOH b) MgO

c) Ca (OH), d) HCl

e All the following are properties of metals except .....ccoevveererrrrennnen. .

a) being good conductors of heat and electricity
b) being solid except mercury
¢) being neither malleable nor ductile
d) having metallic luster
@) The only nonmetallic liquid is .....vvrerevsereren :
a) mercury b) chlorine

c) bromine d) hydrogen

6 All of these elements can make positive ions except ......ccvueerennenee

Mg b) Al

13

c) N d). Na

11

G The chemical formula of potassium sulphate is .......ccccecoverevuunee.

a) KOH b) K,CO,

¢) NaHCO, d) K SO,

udlackl .Jg%l oll @.



O Do Ailaa<iojuial

Galacyl Jolll Lol

P e yS BMSL g L g ga e (1)
an O ets  paionl) § alally (olagall pa Al iy 4] s 134305 §yplas. 4 (G0, a1 LaS»
Cpogdige Sy pellacl Dl (e G pudll 3,8 Dily)lus Gaslia & Alslo BlBol O5.a) 0g8,4) pcail
(Grwls g - Didlgdiall = Gllasa¥ = zygl) K iagali» 431,11 @)

(Gcall - Cgnall = Comaill- Dbaall) K panial? 3,50 @)

(sloall - I - Salsddl - Soslaslll) saall 83,4530 3sese @)
(YLi-clio Jo-Jdu) LU OISE poymll Jaall olis, ... a0 glas o) @)
(ng.mﬁ—\;a_;.]k—)lg.;—\.;ﬁm) ................................. Cduae» ﬁhid‘&jﬂ.‘ﬁgﬁj o

s Bdw guolsi» (i (po ()

lesilas ol 3 DLl b (STod dag (b 5)A1 wna o

Lk dgall Jolo oS B3, Saidus zodl I St (6,01 3o
(I3yoea = Lisile = Slasa=SE%e) HOlaiine» sas @
(Growls oo - lowl-oaxi-Gsh) K el sae @)
(Blgiw¥) - olaaill —HLATYI - plaai¥l) ole Ju sz @)
................... s Gle Jaall o3sdl daske . bl s by Suall Jay o0 @)

(«alall oy> 3> (gl s » = € (eSuull e e8! = € (35Sl (ol Bds» = «alall (9y> (B> ((gSuulIM)
........................ Sl giall JLeSiwy «dae» Hlis| Ul dads) 0

(Oldw @ o Aslas = I @ o Lle - Glae o Olede = Glasll o yac)

_J
alac¥l Jg¥l caall @-



Choose the correct answer from a, b, cor d:

€ Crusoe wrote a ............... of what happened to him on the island.
a) dairy b) diary
c) song d) music
@ A:When ... you visit your grandparents? B: | visit them on Fridays.
a) are b) did
c)do d) were
© It was terrible ..., | lost my mobile phone.
a) although b) because
c) so d) but

) We can see lots of statues in the .......ccoo...... \

a) stadium b) aquarium
c) museum d) funfair
© It was great at the ... . My team won 2 - 0!
a) football stadium b) bowling
) planetarium d) funfair
O What's ... season of the year?
a) beautiful b) very beautiful
c) more beautiful d) the most beautiful
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Choose the correct answer:

01)23x25= ...................

a) 22 b) 28
c)2® d) 235
-3
QThe value ofgzj =
a) 16 b) 8
c) 24 d) 64

6 Which of the following is the greatest?
a)2.3x10* b)2.3x10°

c)3.2x10* d)3.2x10°

-3 d-3

6 The sum of the measures of accumulative angles at a point is equal to

a) 180° b) 360°

c) 90° d) 120°
0 In the opposite figure:

AD // BC, thenm (£ ABC) = ...

a) 180° b) 72°

c) 108° d) 120°

ﬂThe measure of each interior angle of the regular polygon of “n”sides = -.........

a) (n -2) x 180° b) in—2)n>< 180°
c) (1 x 180° d) (n=2) x 180°
(n-2) 2n
eln the quadrilateral ABCD if m (£ A) =80°, m (£ B) = 110°, m (£D) = 100°, then m (£ €) = -
(a) 100° b) 80°
c) 110° d) 70°
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Choose the correct answer:

isa bond resulting from the participation of two atoms with three electrons.

a) Mono covalent bond b) Di covalent bond

¢) Tri covalent bond d) lonic bond

9 Atoms with 8 protons and 4 neutrons have a valency of ........cccceveuunee. .

a)3 b) 7
)2 d)4
9 The number of protons in a negative ioNn is .......cccceeeererreeeenne the number of electrons.
a) less than b) more than
c) equal to d) No correct answer

o The chemical formula of the carbonate group is .......ccccoeeovevreuneee .

a) (NO,)

) (NH)*

b) (50,)

d) (CO,)*

e When an element X combines with oxygen atom, the symbol of oxide is ...............ccccuvueees .

a) X0,

c) XO

b) XO

2

d)X,0

G The type of bond in nitrogen molecule N is .....ccccoou....... .

a) ionic bond

b) single covalent

¢) triple covalent d) double covalent
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Choose the correct answer from a, b, cor d:

@ I loved the fish, but | didn’t see any whales at the .................. .

a) funfair b) museum

c) aquarium d) planetarium
@ English is .....cooeeeeenee. for me than history.

a) easy b) as easy

c) easier d) the easiest

€ The bridge is about 25, 000 metres ................... .

a) tall b) high
c) deep d) long
@) Did you know that whales are the ............... animals in the world?
a) noisy b) noisiest
c) noisier d) much noisy
© The Tahya Masr Bridge is the world’s widest ........cccc....... bridge.
a) expression b) suspension
c) information d) discussion
... you go to school yesterday?
a) Did b) Do
c) Are d) Were
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@ Mathematics

Choose the correct answer:
0 3%+ 3"+ 3*equals:
a) 3*

c) 27*

a) 180°

c) 90°

6 The number of the interior angles of a polygon with (n) sides = ...

a)2
c) 2n
In the opposite figure:

6 IfA_Ié N FC ={M}.Thenx =
a) 40°

c) 120°

@ m (£ AMO)=
a)m (£ AMD)
c) m (£ BMQ)

© m (£ DMB)=
a) 40°

c) 120°

b) 360°
d) 120°

b)n

dn-2

b) 60°

d) 90°

b) m (£ BMD)
d) m (£ AMB)

b) 60°
d) 90°

3Xx

M
120°
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Choose the correct answer:

o The elements that neither lose nor gain any electrons during chemical reactions are

called e, .
a) metals

¢) noble gases

b) nonmetals

d) no correct answer

9 All metals are solid except ......ccceeevererrneneenns .

a) mercury

¢) sodium

e In double covalent each atom shares with ........ccceeveeeeennnee .

a) one electron

¢) three electrons

O All of these elements are from nonmetals except ......coveereerrerrrernnene .

e All of these salts dissolve in water except ...

a) NaCl

c) AgCl

@ The valency of aluminum in ALO, compound is ........cccooccevvvvvvnnns .

a) monovalent

) trivalent

b) bromine

d) oxygen

b) two electrons

d) No correct answer

b) K.SO,

d) Na,S

b) divalent

d) tetravalent
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